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The figures in the margin indicate full marks
Jor the questions

Paper : GE-3 A
( Indian Economy )

1. ©71 Py Tes o 1x8=8

Answer the following questions :

(@) REcms 2
What is disinvestment?

(b) SRS Rl RS “Rewar @ =
fefee srge txfeet 2

Which model was adopted to prepare the
Second Five-Year Plan in India?
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(2)

(0 IR TRt e 2
What is
dividend?

(d) TFR ST P ﬂ‘lﬂﬁﬂ?ﬂmﬁﬁl.
Write the new formula of calculating
Human Development Index (HDI).

(o) TREW Reer PF &7
© What is Multidimensional Poverty Index
(MP])?

(n TREER Tl o &R
What are the two types of poverty?

i ?
' (g) ‘Four Asian Tigers’ 31 I '@m "‘-8‘
Who are called ‘Four Asian Tigers’?

IMF 3 5o Tt ol
Write the full form of IMF.

meant by demographic

()

P S o
s¢o %3 f5e99) : 4x4=

Write short notes on any four of the following
(within 150 words each) :

(a) STl AR
Import substitution

(b) TR T PIF

Human Development Index

l Continued )
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(3)

(0 % o e

Growth and Inequality
(d) wR¥eR I

Poverty line

(e) WWWW&WWWW

- Comparison of the rank of India and
Singapore in trade

N me (aifeB1 ¢oo WW@) .

Anshwer the following questions (within 500 words
each) :

8 (@ R s ReET TR &
R =nfiet 2 weamon w11 TR

What are the overall objectives of India’s
Five-Year Planning? Discuss.

%1/ Or

(B) 353> v AT i M Ry W
SRR Bt

Write the advantages and disadvantages
of Economic Reforms of 1991,

TR W WE J9N W e B @2 oRey
IR A F TR I AMRR R o
e AT | 2+2+10=14
What do you mean by death rate and

birthrate? Discuss briefly the trends of
birthrate and death rate in India.

P23/202
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6.

P23/202

(4)

41/ Or

(b) SRS SAfe wERE A dOR T "
SCEADA

Discuss the impact of growth of
population on Indian economy.

RreR @@ 7 SRS wREel FPIR
“ ‘1:{2 iUl il 2+12=14
W .
What is incidence of pove.rty? Explain the
causes of poverty in India.
53/ Or

(b) oY ST TR AP S oS 14
Al ¥4 | |

i an
Discuss about .the magnlu;;lgl R
nature of income inequality in .

(a) e oF T @RI SR g .
I
Comparatively analyze the economy of
India and South Korea.

&2t / Or

91 | HREw
SRS SF HRAFE HDI T $o
g &0 2+12=14

i d
are the HDI rank of India an
g::;zn Explain the measures taken by
Taiwan for economic development.

( Continued )
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Paper : GE-3 B

( Money and Financial Markets )
1. oS faicay ReiiEd Te f

Answer the following as directed :

(@) FEalT Tretms cm (4. 2. f1.) e
IR TS oy 9

Systematic Investment Plan (SIP) is
related to

) Rea we '
mutual fund

(i) SR &= [y Meory
LIC

(iti). AT Q-
commercial bank -
(iv) OIRFT L @]
post office savings scheme

(o Toehr B Bferear )

( Choose the correct answer )

B) — 3% I 0% ARRR 7% 37 21
Rrer @ o @R wpEER win vl
Rtz 31 (9 572 o@r )

is a situation in the bond market

when the rate of interest falls to its

lowest level and speculative demand for
money becomes perfectly elastic.

( Fill in the blank)

1x8=8
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(6)

qﬁﬁmwmw
“ ﬁ::@q?ﬂ?ﬁw W R T
ot A TR 503 o)

is the money which is accepted as
a medium of exchange because of the
trust between the payer and the payee.

( Fill in the blank )

(d Wwﬁaﬁ@ﬂamﬁwaﬁ
e | .
Give one example of nox:x-bankmg
financial intermediaries in India.

— |
o oOE TR TR T

“ * (AR IR ARTN)

is the regulatory body for the

ital market in India.

= ( Fill in the blank )

() ‘Sensex’¥ T T fe2
What is the full form of ‘Sensex’?

o) oS T e et ?

When did ‘Nifty’ start in India?
fi) S5 (i) Sedv
1992 1998
(iii) S>>0 (i) >558
1996 1994 |
(om TaTh1 o Tforean ) !
( Choose the correct answer )

tinued ) |
p23/202 (Con

(7)

(h) &S 491 IRTT If& IRW IR FRY @A
S (PO MCH 429 FT 2

Which of the following is a step that the
Central Bank will take to increase the
overall availability of credit in the market?

) TR AT TR WG FE qES
R& a7 |

It will sell the government securities
in the open market

(i) FEN QT IR GO I IR
R & IR o

It will buy the government securities
from the open market

(i) N QT R @’ &6 T IR
- It will increase reverse repo rate
(iv) T QT @ ﬂ%ﬁ IRT
It will raise the repo rate
(o= Taeh! A Tferear )
( Choose the correct answer )

2. Y GRT for

Write short notes on :
(a) INRGF QT FHARA
Functions of commercial bank

(b) TH-TASETAN Y@

High-powered money

4x4=16
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(8)

) & e

Financial institution

(d) 3% THW PIT

Stock market index

3. T T QAT T FREA AW I |
Define money. Discuss the functions of
money.

93/ Or
@R (PGS S RES AL ST T4
mGHZﬁWWIWNWWWW‘IW—
TIO IS TN ? '

’ h to supply of money.
iscuss RBI's approach .
lI-DILSW does money supply influence the general

price level?
|
4. wﬁ@awawﬁmwm.w |
Discuss the financial sector reform in India.
51/ Or
Core fordt -
Write notes on :

(o) SRR A TR -
Primary market of securities

(b) TS (T &R
gecondary market of securities

P23/202

4+8=12

8+4=12

11

S5%+5%=11

( Continued )

(9)

5. %mmﬁf?%wmwwn

3+8=11
What is stock market? Discuss the functions
of stock market,

Y%{T/ Or
8 WS e VT IR 1% e =41 1 8
TCHD SRR ST A 7 | 7+4=11

Discuss the methodology for calculating stock
market index. Discuss the importance of
stock market index.

AR LI TR R —
T T N T By 5914 8+3=11

Discuss the expectation theory of term
structure of interest rate. Mention the sources
of interest rate differentials.

YR{r/ Or
W%{ﬁmﬁsm?mww%m
SIS A7 | 2+9=11

What is liquidity preference? Discuss the
liquidity preference theory of interest rate.

7. m@qm%ﬁmwmwuw@%m

QU gt FRAT AT IR B R e
IRRR FE, A 4 | 5+6=11

Discuss the objective of monetary policy in
India. What are the instruments used by

. monetary authority to exercise control over

P23/202

money supply in the economy?
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( 10 ) (11)
I
s or | (b) U T GREGT SO T
bl The condition for optimum allocatton of
m@m’[&'%ﬁmww' 11 resource is
qus J . i
Discuss the current monetary policy of India. (l)_ AT TR W > AT TR =
MSC > MSB
paper : GE-3 C (i) 2T TREE T = 2T TR
' MSC = MSB :
( Environmental Economics ) (i) 2T TR T < 2R IR =TT
\ -8 MSC < MSB
ot e e 1x8 |
. e AR’ . "
! r the following as directed : (iv) $"FT abre T
Answe & " None of the above
JRCT &1 A @O
(@) @ . (&% T 1 S )
Environmental quality is a ( Choose the correct answer )
) "”l,w'd (o) SRS e @By Ry o
00
public g Mention one characteristic of common
(i) [ETS T property resource.
private good (d) AR [T THFORER ST AR TR
(i) oS T AP o T ARNCHT SARCERT LRS-
(i1}
|
common property resource A .
Name the economist who advocated
. 8 the assignment of property rights
(iv) &3 q? thmb for efficient solution of enwronmental
None of the above pollution. ‘
(o= ey 1o Sforedt ) (e) TR I 2
( Choose the correct answer ) What is carbon trading?
3/202 (Continued) | F23/202 (Turn Ouer)
P2




(12)

() AR B b CTeER cord A

Name one naturally generated greenhouse
gas.

(g) & T W WA MR TR @bl LFI N
fern

Mention one man-made pollutant
responsible for ozone layer depletion.

(h) RIE- QR ITTFIOR (AT YRABRE GOl
Kazel SEy 7401

Mention one limitation of Pearce-

- Atkinson approach of measuring
sustainability.

. oo AP R @ SR eRe oy Gt frl
(T8 o 7R ee) : 5x4=20

Write short notes on any four of the following
(within 150 words each) :

(o) STTRER oK |
Common property resources
(b) IR RFeerR Topmz
Sources of market failure
() R T TP
Objectives of environmental economics
(d) TV TR
Sustainable development

(13 )

(e) ~RRRFRRET Fo1 vl s

Contingent valuation method

() IS 3 AR

Joint Forest Management

ST SRR U B (2R oo it o) :

Answer the following questions (within 500 words
each) : ‘

8. (a) IRFE P B W2 FF AR YR
ARl Tow RfBILE Tt a1 R
PR @At AR @I PR
IR *1R, =cewa 4 |
What are externalities? Give three
examples each of positive and negative
externalities. How can externalities
be internalized through government
intervention? Explain.

§%{1/ Or

(b) & O SRR ¥ R 2 e b
oo i ARPR oM T TGS ToT M
TR TS (FCARA FFOIPTP T AN (1R,
BT oIS TS IFAT A |
What are the assumptions of Coase
theorem? Explain with a diagram, how
bargaining between two parties will
ultimately generate an efficient outcome
even if property right is assigned to the

polluting firm.

2+3+8=13

3+10=13

P23/202 ( Turn Over)

P23/202 ( Continued )




4. (a)

(b)

( 14)

aEd I A QORRRT  apEt S
SRCEANT ST TR SeafRgere orafe e
fBe@ SITES WM T ISR RIS
@O TaS ST i ? 6+6+1=13

Explain with diagram, the emission fee
and tradable pollution permit as the two
incentive-based solutions to the environ-
mental problem. Which method is more
familiar in the contemporary world?

9241/ Or
e MERT e ARW@R ored
APTFR TP A : 5+4+4=13

Explain the global environmental
concern with special reference to the
following :

(i) =3 RS
Climate change

(i) W& TH T
Ozone layer depletion

(i) oA TEee 3R
Global warming

5. (o) °RETA FIRR oEmAme R0 9Ry

p23/202

TR TR ST %41 | 3+10=13

What is the need for environmental
valuation? Discuss the methods of
environmental valuation,

( Continued )

(15)

e/ Or

(b) @R T A = e R ¥R
TR AR A IR AR, IR I R
RS JRY SF PRI ST T |

7+6=13

Explain how the hedonic pricing method
can be used for valuation of an environ-
mental good. Discuss the advantages
and disadvantages of this method.

6. (o) ITH T Rfew WP T

HiceAr F0U o 13
Critically discuss different concepts of
sustainable development.

ST/ Or

(b) R WF o1 sTrEvel o & 3=, I
9 | GARE TR I 35T SR e
R weE 3 OR SR ? (oAR BT Forw
e fan 4 6+7=13
Explain the meaning of strong and weak
sustainability. Do you think that there

are conflicts between economic growth
and sustainable development? Give

reasons for your answer.

%* % %k
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